Converting Between nm, um, mm and cm (A)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
@ o) : ! T o
) g s 5 §i 19 § 2 3 £
B S Z =2 wi: +o 8 E S S
: : ———————— : : > X
G M k h da: i1d ¢ m 2 n
9 8 7 6 5 4 3 2 1:+0:i-1 -2 -3 4 -5 -6 -7 -8 -9
. Convert 0.000026 mm to nm

Convert 41,300,000,000 nm to cm

Convert 0.01005 um to nm

Convert 26,100 um to mm

Convert 468,200,000 nm to mm

Convert 9,900,000,000 nm to cm

Convert 0.0000365m to nm

Convert 2020 nm to um

Convert 0.006677 cm to um

Convert 0.0000053 m to um
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Converting Between nm, um, mm and cm (A) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
o] o : : — o— e
5 % o 5§ §: g EE 3 z
"Bh S Z =2 wi: +o 8 E £ &
: : - : : —» X
G M k h da: !d ¢ m [ n
9 8 7 6 5 4 3 2 1:+0:i-1 -2 -3 4 -5 -6 -7 -8 -9
. Convert 0.000026 mm to nm

0.000026 mm X 10 X 10 X 10 X 10 X 10 X 10 = 26 nm

Convert 41,300,000,000 nm to cm

41,300,000,000nm =-10+-10+10+10+10+10+10 =4130cm
Convert 0.01005 um to nm

0.01005um X 10 X 10 X 10 = 10.05 nm

Convert 26,100 um to mm

26,100 pm =10 - 10 =10 = 26.1 mm

Convert 468,200,000 nm to mm

468,200,000nm +-10+10+10+10+ 10+ 10 = 468.2 mm
Convert 9,900,000,000 nm to cm

9,900,000,000nm +10+-10+10=+-10+10+10+10 =990cm
Convert 0.0000365 m to nm

0.0000365m X 10 X 10X 10X 10 X 10 X 10 X 10 X 10 X 10 = 36,500 nm
Convert 2020 nm to um

2020nm =+ 10 +10 +10 = 2.02 um

Convert 0.006677 cm to um

0.006677cm X 10 X 10 X 10 X 10 = 66.77 um

Convert 0.0000053 m to um

0.0000053m X 10 X 10 X 10 X 10 X 10 X 10 = 5.3 um
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Converting Between nm, yum, mm and cm (B)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
5 & 8 g ig § £ 5 2
) g T 2 S: 15 8 E g g
: : - : : > X
G M k h da: 'd ¢ m M n
9 8 7 6 5 4 3 2 15051 2 3 4 5 -6 -7 -8 -9

Convert 4,070,000,000 nm to mm

Convert 2,931,000 nm to um

Convert 0.000003772 cm to nm

Convert 0.067 mm to um

Convert 0.000741 cm to nm

Convert 0.03774 um to nm

Convert 9.98 cm to um

Convert 4,051,000,000,000 nm to m

Convert 61,000,000 um to m

Convert 35,290,000,000 nm to mm
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Converting Between nm, um, mm and cm (B) Answers

Name: Date: Score: /10
Complete each conversion. Symbols for copying and pasting: X + 2
Base

« o : : o o o
< oD o 5 8 D 8 = 3} =

q) ] 1 1 o p—{ o p—
& £ T 2 81 1% 8 E E g
: : - : : —» X
G M k h da: i1d ¢ m [ n
9 8 7 6 5 4 3 2 1:0:i-1 2 3 4 -5 -6 -7 -9

Convert 4,070,000,000 nm to mm

10.

4,070,000,000nm =10 +10+10+ 10+ 10 = 10 = 4070 mm
Convert 2,931,000 nm to um

2,931,000nm =~ 10 =10 = 10 = 2931 um

Convert 0.000003772 cm to nm

0.000003772cm X 10 X 10 X 10 X 10 X 10 X 10 X 10 = 37.72nm
Convert 0.067 mm to um

0.067mm X 10 X 10 X 10 = 67 um

Convert 0.000741 cm to nm

0.000741cm X 10 X 10 X 10 X 10 X 10 X 10 X 10 = 7410 nm
Convert 0.03774 um to nm

0.03774 um X 10 X 10 X 10 = 37.74 nm

Convert 9.98 cm to um

9.98cm X 10 X 10 X 10 X 10 = 99,800 um

Convert 4,051,000,000,000 nm to m

4,051,000,000,000nm -10+-10+10+10+10+10+10+10+10 =4051 m

Convert 61,000,000 um to m

61,000,000pm =10 +-10+-10+-10+10+10=61m

Convert 35,290,000,000 nm to mm

35,290,000,000nm =10 +10+=10+10+10 + 10 = 35,290 mm
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Converting Between nm, um, mm and cm (C)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
5 & 8 g ig § £ 5 2
) g T 2 S: 15 8 E g g
: : - : : > X
G M k h da: 'd ¢ m M n
9 8 7 6 5 4 3 2 15051 2 3 4 5 -6 -7 -8 -9

. Convert 0.000000095 cm to nm

Convert 0.07474 m to um

Convert 18,300 nm to um

Convert 3.883 cm to um

Convert 0.0000585 mm to nm

Convert 0.00618 mm to nm

Convert 4,070,000,000,000 nm to m

Convert 480,800 um to mm

Convert 7,600,000 nm to um

Convert 59,960,000,000 nm to cm
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Converting Between nm, um, mm and cm (C) Answers

Name: Date: Score: /10
Complete each conversion. Symbols for copying and pasting: X + 2
Base
: E = o— 8
5, % o § 8t g E = 3 s
B g Z & 9, 19 8 E g g
: : - : : —» X
G M k h da: i1d ¢ m [ n
9 8 7 6 5 4 3 2 1:0:i-1 2 3 4 -5 -6 -7 -9
. Convert 0.000000095 cm to nm

10.

0.000000095cm X 10X 10X 10X 10X 10X 10X 10 = 0.95nm
Convert 0.07474 m to um

0.07474m X 10 X 10 X 10 X 10 X 10 X 10 = 74,740 um
Convert 18,300 nm to um

18,300nm =10 +- 10 =10 = 18.3 um

Convert 3.883 cm to um

3.883cm X 10 X 10 X 10 X 10 = 38,830 um

Convert 0.0000585 mm to nm

0.0000585mm X 10 X 10 X 10 X 10 X 10 X 10 = 58.5nm
Convert 0.00618 mm to nm

0.00618mm X 10 X 10 X 10 X 10 X 10 X 10 = 6180 nm
Convert 4,070,000,000,000 nm to m

4,070,000,000,000nm -10+10+10+10+10+10+10+10 - 10 = 4070 m

Convert 480,800 um to mm

480,800 um = 10 =+ 10 +~ 10 = 480.8 mm

Convert 7,600,000 nm to um

7,600,000 nm + 10 <+ 10 = 10 = 7600 pm

Convert 59,960,000,000 nm to cm

59,960,000,000nm - 10+-10+10+10+ 10+ 10 =+ 10 = 5996 cm
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Converting Between nm, um, mm and cm (D)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
. ' — o
5 & c 5 g ‘g E £ > s
B S 2 & w' 15 8 E S S
: : - : : > X
G M k h da: 'd ¢ m M n
9 8 7 6 5 4 3 2 15051 2 3 4 5 -6 -7 -8 -9

Convert 3360 um to mm

Convert 2,153,000,000 nm to cm

Convert 0.000000082 cm to nm

Convert 1,145,000,000 um to cm

Convert 133,100 nm to pm

Convert 0.38 um to nm

Convert 750,000 nm to mm

Convert 0.000000787 m to nm

Convert 0.005222 m to um

Convert 0.09731 mm to nm
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Converting Between nm, um, mm and cm (D) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
o] o : : — o— e
5 b 2 5 §i i3 § = 3 £
"Bh S Z =2 wi: +o 8 E £ &
: : - : : —» X
G M k h da: i1d ¢ m M n
9 8 7 6 5 4 3 2 1:+0:i-1 -2 -3 4 -5 -6 -7 -8 -9
Convert 3360 um to mm

3360 um = 10 = 10 = 10 = 3.36 mm

Convert 2,153,000,000 nm to cm

2,153,000,000nm -10+-10+10+-10+=10+10+10 = 215.3cm
Convert 0.000000082 cm to nm

0.000000082cm X 10X 10X 10X 10X 10X 10X 10 = 0.82nm
Convert 1,145,000,000 um to cm

1,145,000,000 um = 10 =10 =10 =10 = 114,500 cm

Convert 133,100 nm to um

133,100nm =10 =10 =10 = 133.1 um

Convert 0.38 um to nm

0.38 um X 10 X 10 X 10 = 380 nm

Convert 750,000 nm to mm

750,000nm =-10+10+10+10+10+10 = 0.75mm

Convert 0.000000787 m to nm

0.000000787m X 10 X 10 X 10 X 10 X 10 X 10 X 10 X 10 X 10 = 787 nm
Convert 0.005222 m to um

0.005222m X 10 X 10 X 10 X 10 X 10 X 10 = 5222 um

Convert 0.09731 mm to nm
0.09731 mm X 10 X 10X 10X 10 X 10 X 10 = 97,310 nm
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Converting Between nm, um, mm and cm (E)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

!5'_a_s_e
5 & 8 g ig § £ 5 2
) g T 2 S: 15 8 E g g
: : - : : > X
G M k h da: 'd ¢ m M n
9 8 7 6 5 4 3 2 15051 2 3 4 5 -6 -7 -8 -9

. Convert 0.00003284 cm to nm

Convert 14,600,000 nm to um

Convert 0.0000045 mm to nm

Convert 220,000 um to mm

Convert 0.00982 mm to nm

Convert 0.00066 cm to nm

Convert 0.0997 cm to um

Convert 2700 nm to um

Convert 4,600,000 um to m

Convert 6,900,000,000 nm to m
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Converting Between nm, um, mm and cm (E) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
o] o : : — o— e
5 2 e 8 8 13 2 2 > s
"Bh S Z =2 wi: +o 8 E £ &
: : - : : —» X
G M k h da: i1d ¢ m [ n
9 8 7 6 5 4 3 2 1:+0:i-1 -2 -3 4 -5 -6 -7 -8 -9
. Convert 0.00003284 cm to nm

0.00003284cm X 10X 10X 10X 10X 10X 10X 10 = 328.4nm
Convert 14,600,000 nm to um

14,600,000 nm =+ 10 = 10 = 10 = 14,600 um

Convert 0.0000045 mm to nm

0.0000045mm X 10 X 10 X 10 X 10 X 10 X 10 = 4.5nm
Convert 220,000 um to mm

220,000 pm = 10 =+ 10 =10 = 220 mm

Convert 0.00982 mm to nm

0.00982mm X 10 X 10 X 10 X 10 X 10 X 10 = 9820 nm
Convert 0.00066 cm to nm

0.00066cm X 10 X 10 X 10 X 10 X 10 X 10 X 10 = 6600 nm
Convert 0.0997 cm to um

0.0997cm X 10 X 10 X 10 X 10 = 997 um

Convert 2700 nm to um

2700nm <+ 10 =10+ 10 = 2.7 um

Convert 4,600,000 um to m

4,600,000 um ~-10+-10+10+-10+-10+10 =4.6 m
Convert 6,900,000,000 nm to m

6,900,000,000nm +-10+-10+-10+-10+10+10+10+-10+-10=6.9m
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Converting Between nm, um, mm and cm (F)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
. ' — o
5 & c 5 g ‘g E £ > s
B S 2 & w' 15 8 E S S
: : - : : > X
G M k h da: 'd ¢ m M n
9 8 7 6 5 4 3 2 15051 2 3 4 5 -6 -7 -8 -9

Convert 13.1 um to nm

Convert 0.00805 cm to nm

Convert 26,660,000 nm to um

Convert 590,000 nm to mm

Convert 0.03129 cm to nm

Convert 847,900,000,000,000 nm to m

Convert 64,000,000 um to cm

Convert 0.01631 mm to um

Convert 1,503,000,000 nm to mm

Convert 0.0032m to um
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Converting Between nm, um, mm and cm (F) Answers

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
5 v 2§35 i3 %% 2
& E T 2 5 135 8 E E z
— < : - : : —» X
G M k h da: i1d ¢ m [ n
9 8 7 6 5 4 3 2 15 E—l 2 3 4 5 6 -7 -8 9

o

1. Convert 13.1 um to nm
13.1 um X 10 X 10 X 10 = 13,100 nm
2. Convert 0.00805 cm to nm
0.00805cm X 10 X 10 X 10 X 10 X 10 X 10 X 10 = 80,500 nm
3. Convert 26,660,000 nm to um
26,660,000nm = 10 =10 = 10 = 26,660 um
4. Convert 590,000 nm to mm
590,000nm +10+10+-10+=10+10+10 = 0.59 mm
5. Convert 0.03129 cm to nm
0.03129cm X 10 X 10 X 10 X 10 X 10 X 10 X 10 = 312,900 nm
6. Convert 847,900,000,000,000 nm to m
847,900,000,000,000nm -+ 10+-10+-10+-10+10+10+10=+10+10 = 847,900 m
7. Convert 64,000,000 um to cm
64,000,000 um = 10 = 10 = 10 = 10 = 6400 cm
8. Convert 0.01631 mm to um
0.01631 mm X 10 X 10 X 10 = 16.31 um
9. Convert 1,503,000,000 nm to mm
1,503,000,000nm = 10+10+10+10+ 10 =+ 10 = 1503 mm
10. Convert 0.0032 m to pm
0.0032m X 10 X 10 X 10 X 10 X 10 X 10 = 3200 um
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Converting Between nm, um, mm and cm (G)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
@ o) : ! T o
5 & 2 38 § 13 & 2 S s
B S Z =2 wi: +o 8 E S S
: : ———————— : : > X
G M k h da: i1d ¢ m 2 n
9 8 7 6 5 4 3 2 1:+0:i-1 -2 -3 4 -5 -6 -7 -8 -9
Convert 16,090,000 um to m

Convert 0.002719 mm to nm

Convert 12.4 um to nm

Convert 0.000039 cm to nm

Convert 5,900,000 nm to cm

Convert 49,780,000,000,000 nm to m

Convert 2880 um to mm

Convert 0.000608 cm to um

Convert 0.649 um to nm

Convert 8,700,000 nm to mm
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Converting Between nm, um, mm and cm (G) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
o] o : : — o— e
5 b 2 5 §i i3 § = 3 £
"Bh S Z =2 wi: +o 8 E £ &
: : - : : —» X
G M k h da: i1d ¢ m [ n
9 8 7 6 5 4 3 2 1:+0:i-1 -2 -3 4 -5 -6 -7 -8 -9
Convert 16,090,000 um to m

16,090,000 um =10 +-10+10+10+ 10+ 10 = 16.09 m
Convert 0.002719 mm to nm

0.002719mm X 10 X 10 X 10 X 10 X 10 X 10 = 2719 nm
Convert 12.4 um to nm

12.4pum X 10 X 10 X 10 = 12,400 nm

Convert 0.000039 cm to nm

0.000039cm X 10 X 10 X 10 X 10 X 10 X 10 X 10 = 390 nm
Convert 5,900,000 nm to cm

5,900,000nm +10+-10+10+-10=10+10+10 = 0.59cm
Convert 49,780,000,000,000 nm to m
49,780,000,000,000nm -10+-10+-10+-10+-10+10+10+10+10 =49,780m
Convert 2880 um to mm

2880 um =10 =10 =10 = 2.88 mm

Convert 0.000608 cm to um

0.000608 cm X 10 X 10 X 10 X 10 = 6.08 um

Convert 0.649 um to nm

0.649 um X 10 X 10 X 10 = 649 nm

Convert 8,700,000 nm to mm

8,700,000nm -10+10+10+10+10+10 = 8.7mm
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Converting Between nm, um, mm and cm (H)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
. ' — o
5 & c 5 g ‘g E £ > s
B S 2 & w' 15 8 E S S
: : e — : : > X
G M k h da: 'd ¢ m M n
9 8 7 6 5 4 3 2 1 -1 2 3 4 -5 -6 -7 -8 -9

Convert 3700 um to cm

Convert 8,753,000 nm to um

Convert 8,200,000,000 um to m

Convert 811,000,000 nm to mm

Convert 0.0000003376 m to nm

Convert 0.4921 mm to um

Convert 0.0008933 mm to nm

Convert 0.0828 um to nm

Convert 0.00769 cm to nm

Convert 313,000,000,000 nm to cm

Math-Drills.com




Converting Between nm, um, mm and cm (H) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
o] o : : — o— e
5, b 2 g §: i3 E = 3 £
"Bh S Z =2 wi: +o 8 E £ &
: : - : : —» X
G M k h da: i1d ¢ m [ n
9 8 7 6 5 4 3 2 1:0:-1 2 3 4 -5 -6 -7 -8 -9
Convert 3700 um to cm

3700 um =10 - 10+ 10 =10 = 0.37cm

Convert 8,753,000 nm to um

8,753,000nm + 10 =10 =10 = 8753 um

Convert 8,200,000,000 um to m

8,200,000,000 um =10 +-10+10+10+10 =10 = 8200 m

Convert 811,000,000 nm to mm

811,000,000nm - 10+-10+-10+10+10+10 =811 mm

Convert 0.0000003376 m to nm

0.0000003376 m X 10 X 10 X 10 X 10 X 10 X 10 X 10 X 10 X 10 = 337.6 nm
Convert 0.4921 mm to um

0.4921 mm X 10 X 10 X 10 = 492.1 um

Convert 0.0008933 mm to nm

0.0008933 mm X 10 X 10 X 10 X 10 X 10 X 10 = 893.3 nm

Convert 0.0828 um to nm

0.0828 um X 10 X 10 X 10 = 82.8 nm

Convert 0.00769 cm to nm

0.00769cm X 10 X 10 X 10 X 10 X 10 X 10 X 10 = 76,900 nm
Convert 313,000,000,000 nm to cm

313,000,000,000nm -10+-10+-10+10+10-+ 10+ 10 = 31,300 cm
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Converting Between nm, um, mm and cm (I)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
. ' — o
5 & c 5 g ‘g E £ > s
B S 2 & w' 15 8 E S S
: : e ——t : > X
G M k h da: 'd ¢ m M n
9 8 7 6 5 4 3 2 1 -1 2 3 4 -5 -6 -7 -8 -9

Convert 17,000 um to cm

Convert 0.00000027 m to nm

Convert 395,000,000 nm to mm

Convert 34,430 um to mm

Convert 7.71 um to nm

Convert 268,000,000,000 nm to cm

Convert 0.0000776 m to pm

Convert 140.3 um to nm

Convert 7,200,000 nm to cm

Convert 0.06017 mm to nm
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Converting Between nm, um, mm and cm (I) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
o] o : : — o— e
5 2 e 8 8 13 2 2 S s
"Bh S Z =2 wi: +o 8 E £ &
: : - : : —» X
G M k h da: i1d ¢ m M n
9 8 7 6 5 4 3 2 1:+0:i-1 -2 -3 4 -5 -6 -7 -8 -9
Convert 17,000 um to cm

17,000 pum =10 +10+10+10 = 1.7cm

Convert 0.00000027 m to nm

0.00000027m X 10X 10X 10X 10X 10X 10 X 10 X 10 X 10 = 270 nm
Convert 395,000,000 nm to mm

395,000,000nm =-10+10+10+10+ 10 =10 = 395 mm

Convert 34,430 um to mm

34,430 um = 10 = 10 = 10 = 34.43 mm

Convert 7.71 um to nm

7.71 um X 10 X 10 X 10 = 7710 nm

Convert 268,000,000,000 nm to cm

268,000,000,000nm =10+-10+-10+10+10+10+10 = 26,800 cm
Convert 0.0000776 m to um

0.0000776 m X 10 X 10 X 10 X 10 X 10 X 10 = 77.6 um

Convert 140.3 um to nm

140.3 um X 10 X 10 X 10 = 140,300 nm

Convert 7,200,000 nm to cm

7,200,000nm -10+10+-10+-10+10+10+10=0.72cm
Convert 0.06017 mm to nm

0.06017mm X 10 X 10 X 10 X 10 X 10 X 10 = 60,170 nm
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Converting Between nm, um, mm and cm (J)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

!5'_a_s_e
5 & 8 g ig § £ 5 2
= £ T 2 5: 195 8 E = &
: : - : : > X
G M k h da: 'd ¢ m M n
9 8 7 6 5 4 3 2 1:0: 2 3 4 -5 -6 -7 8 9

. Convert 0.0000008869 m to nm

Convert 0.045 cm to um

Convert 923,000,000,000 nm to cm

Convert 0.00002791 cm to nm

Convert 85,770,000,000 nm to mm

Convert 0.00003652 m to um

Convert 8,500,000,000 nm to mm

Convert 620 nm to um

Convert 103,700,000 nm to um

Convert 0.01153 mm to um
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Converting Between nm, um, mm and cm (J) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
o] o : : — o— e
5 g 2 g §: i3 E = 3 s
"Bh S Z =2 wi: +o 8 E £ &
: : - : : —p X
G M k h da: i1d ¢ m [ n
9 8 7 6 5 4 3 2 1:+0:i-1 -2 -3 4 -5 -6 -7 -8 -9
. Convert 0.0000008869 m to nm

0.0000008869m X 10 X 10 X 10 X 10 X 10 X 10 X 10 X 10 X 10 = 886.9 nm
Convert 0.045 cm to um

0.045cm X 10 X 10 X 10 X 10 = 450 pm

Convert 923,000,000,000 nm to cm

923,000,000,000nm =-10+10+10+10+10+10+10 =92,300cm
Convert 0.00002791 cm to nm

0.00002791cm X 10 X 10 X 10 X 10 X 10 X 10 X 10 = 279.1 nm
Convert 85,770,000,000 nm to mm

85,770,000,000nm =10+ 10+ 10+ 10 + 10 + 10 = 85,770 mm
Convert 0.00003652 m to um

0.00003652m X 10 X 10 X 10 X 10 X 10 X 10 = 36.52 um

Convert 8,500,000,000 nm to mm

8,500,000,000nm - 10+10+ 10+ 10+ 10 + 10 = 8500 mm
Convert 620 nm to um

620nm =~ 10 +- 10 +-10 = 0.62 um

Convert 103,700,000 nm to um

103,700,000 nm <+ 10 = 10 = 10 = 103,700 um

Convert 0.01153 mm to um

0.01153mm X 10 X 10 X 10 = 11.53 um
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